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o 3x3 +5x2 —16x—12=(x —2)(3x*> + 11x + 6)

= (x —2){3x%2 4+ 9x + 2x + 6}0

= (x —2){3x(x +3) + 2(x + 3)}




=(x—-2)x+3)(Bx+2)

792 6. I x2+px+q A x%+mx+n I P x+a B THET TS (0@ AT

I T - a=—2%

p—m
STz~ x2 + px +q M x2+mx +n-F 967 FEHET T3ATS |
~x+a=0
=>=—a
wx?—ap+q=0
+x2t+am+n=0

(fFarsr 3f9) am—ap+q—n=0

=a(m—p)=n—q

TR 1. O JIICARI] fefy FIEA T Aou HIRE I |

(D +4)(x+10) (i) (x +8)(x — 10)

(i) (3x + 4)(3x — 5) @) (y2+3) (y2-3)

() (3 - 2x)(3 + 2x)
ERISICH

Dx+4)(x+10)

=x2+ (4 +10)x+4x10[(x +a)(x + b) =x2+ (a + b)x + ab

= x2 + 14x + 40 T[IE FF3TG,a = 4,b = 0 ¥IN &= | ]

(i) (x +8)(x — 10)

=x2 +[8 4 (—10)]x + 8 x (—10) = x? — 2x — 80

({i)Bx +4)(3x = 5)

=(3x)2+[4+ (=5)]3x + 4 x (=5) = 9x% — 3x — 20




(v) B3—=2x)(3+ 2x)
= (3)2 + (=2x + 2x) x 3 + (—2x)(2x)
=9+ 0X3—4x% =9 — 4x?

. TOFOE T FF(S A TIHTPR (¥ FJ1

(1)103 x 107 (i) 95 X 96 (iii) 104 X 96

(1)103 x 107
= (100 + 3) x (100 + 7)
= (100)2+ (3+7)x 10+ (3% 7)
[(x + @) (x + b) = x2 + (a + b)x + ab TINT FS |
= 10000 + 1000 + 21 = 11021
(ii) 95 x 96
= (100 — 5) x (100 — 4)
= (100)% + [(—5) + (—4)] x 10 + (=5) x (-4)
= 10000 — 900 + 20 = 9120
(iit) 104 X 96
= (100 + 4) x (100 — 4)
= (100)% + [4 + (—4)] x 100 + (14 x —4)
=1000+ 0 x 100 — 16
= 10000 — 16 = 9984

792 3. OYE eu TN I S3AMS fIEFT F:

2
(D9x2 +6xy +y?  (iDdy?—4y+1 (iii)x? — %




(D)9x% + 6xy + y?
=(Bx)?2+23x.y+ (¥)?=Bx+y)?

[(a+b)? =a?+2ab+b? TRE FF | 3J® a=3x3q b =y]
(i)4y? —4y + 1

=2y)?-22y.1+(1)?> =2y —1)>

2 _ i
(ii))x 0

== (F) =+ %) (- 5)
. MG Ien [N I 5 IFERT TR F9n

(D) (x + 2y + 4z)? (i) 2x —y + 2)?

(iii))(—2x + 3y + 2z)? (iv)(3a — 7b — ¢)?

(v)(2x + 5y — 32)? (vi) Ea - %b + 1]2

(D (x + 2y + 42)?
=x2+ (2y)? + (42)? + 2x(2y) + 2(2y)(42) + 2(42)x
=x2+4y? + 162z% + 4xy + 16yz + 8xz
[(@+b+c)? =a?+b?+c? + 2ab + 2bc + 2ca 9w TTIE F19 |
(i) 2x —y + 2)?
=22+ (—y)?>+ (@)?+2x2x(—y) + 2(=y)z+ 2 X z X 2x
=4x% +y? + 2% — 4xy — 2yz + 4xz
(iii))(—2x + 3y + 2z)?
= (=2x)2+ (3y)? + (22)? + 2(—2x)3y + 2 X 3y X 2z + 2 X 2z(—2x)
= 4x?% + 9y? + 422 — 12xy + 11yz — 8xz
(iv)(3a—7b — ¢)?

= [3a + (=7b) + (—¢)]?
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= (3a)? + (=7b)* + (—c)? + 2(Ba)(=7b) + 2(=7b)(—c) + 2(—c)(3a)
=9a? + 49b? + c? — 42ab + 14bc — 6ca

(v)(2x + 5y — 32)?

= (—=2x + 5y — 32)?

= (=2x)% + (5y)2 + (=32)% + 2(=2x)(5y) + 2(5y)(=32) + 2(=32)(—2x)

= 4x? + 25y% + 922 — 20xy — 30yz + 12zx

(vi) Ea—%b + 1]2

= [+ (-3)+1]

2 2
=(a) +(-3b) + 2 +2(3a)(-3b) +2(—3b).1+2(30).1
=—a?+ b’ +1—-cab—b+-a
T 5. SR fICIFT AT
(D)4x% +9y? + 1622 + 12xy — 24yz — 16xz
(ii)2x? + y? + 82% — 2,/2xy + 4V2xy — 8xz
STTEe
(D)4x% +9y% + 1622 + 12xy — 24yz — 16xz
= (2%)% + (3y)% + (—42)2 + 2(2x) By) + 2(3y) (—42) + 2(2x)(—4z)
= (2x + 3y — 42)?
[(@+b+c)?=a%+b?+c?+2ab + 2bc + 2ca TFIRFTIFINT ]
(ii)2x? + y? + 82% — 2,/2xy + 4V2xy — 8xz
= (—v2x)" +y2 + (—VZx)" + 2(—V2X)y + 2(9)(2v22) + 2(—V2x) (2V22)
= (—VZx +y + 2VZz)’
T2 6. ©OF HA@20! [AI[Ne B foram

((2x + 1)3 (ii)(2a — 3b)3

(iii) Ex + 1]3 (iv) [x - %yr




EEILIEH
MHx+1)3 =203+ 1) +320)1(2x +1)
=8x3+ 1+ 12x? + 6x
=8x3+12x2+6x+1
[(a+b)® = a® + b® + 3ab(a + b)TTIT |
(id)(2a — 3b)* = (2a)® — (3b)® — 3(2a)(3b)(2a — 3b)
= 8a3 — 27b3 + 36a’b + 54ab?
[(a—b)? = a® — b® — 3ab(a — b)TTRF F |
3

(iif) Ex + 1]

= @x)3 +13 4+ 3(§x).1(§x + 1)

27 27 9
==x3+14+=x% +-x
8 4 2

27 3 .27 5 9
=—x —x -x+1
8 + 4 +2 +

3

Wl

~= () () (x-3)
= x3 = —y% - 2x%y + Sxy?
=x3 = 2x%y +3xy? =y
T 7. OE Wov T IN ©FF INE@ET T AT FAT |
(0)(99)3 (ii) (102)3 (iii) (998)3
BRIRIEH
(D(99)°
= (100 — 1)3
= (100)3 — 1% — 3(100)1(100 — 1)

[(a—b)% = a® — b3 — 3ab(a — b)TIRTFF |




= 100000 — 1 — 30000 + 300 = 970299
(i) (102)3

= (100 + 2)3

= (100)3 + (2)3 + 3(100)(2)(100 + 2)

[(a+b)® = a® + b® + 3ab(a + b)) TR FF |

= 1000000 + 8 + 60000 + 1200 = 1061208
(iii) (998)3

= (1000 — 2)3

= (1000)3 — (2)3 — 3(1000)(2)(100 — 2)

= 1000000000 — 8 — 6000000 + 12000

= 1000012000 — 6000000 + 12000

= 1000012000 — 6000008

= 994011992

. ©99 IfSET STME AR F0

(i) 8a® + b3 + 12a?b + 6ab?
(ii) 8a® — b3 —12a%b — 6ab?
(i) 27 — 12503 — 135a + 22542

(iv)64a® — 27b% — 144a%b + 108ab?

1 9 1
W)27p° =5 —5p*+p

(i) 8a® + b3 + 12a?b + 6ab?
= (2a)® + b3+ 3(2a)b(2a + b) = (2a + b)3

[(x+9)% =23+ y% 4+ 3xy(x + y) TR FT |
(ii) 8a® — b3 —12a%b — 6ab?

= (2a)® — b* - 32a.b(2a — b) = (2a — b)?

[(x—3)% =23 —y% = 3xy(x — y) T F(T |




(iii) 27 — 125a3 — 135a + 225a?
=32 -Ga)?-3.3)(5a)(3—-5a) = (3 —5a)3
(iv)64a® — 27b% — 144a%b + 108ab?

= (4a)® — (3b)® — 3(4a)(3b)(4a — 3b) = (4a — 3b)?

9 1

3_ 1 2,1
(W)27p” == —5p" +p

1

- = ()" =3 (30 -) = (0=

qg: 9. HeiFd 4§18
Ox® +y° = (x +y)(x* —xy +y?)
(i) x® =y = (x = »)(x* +xy +y?)
SITETA:
(i) RHS. =(@x+y)(x?—xy+y?
=x(x®>—xy+y®) +y(x?—xy+vy?)
=x3—x?y+xy? +x%y —xy? +y3
= x3 +y® = L.H.S. [evel Sfeama $1 7'
(i) RH.S. =(x—y)%+xy+y?)
=x(x®>+xy+y?) —y(x?+xy +vy?)
=x3+x%y+xy? —x?y —xy?—y3
= x3 —y® = L.H.S. [Wevel Sfeame $1 7'
o9 10. BAWS QT s
()27y3 + 12523
(ii)64m3 — 343n3
AT
()27y3 + 12523
= (3y)° + (52)°

= (3y +52)[(3y)? — 3y)(52) + (52)*]
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[a® + b3 = (a + b)(a® — ab + b?)TIRR T |
(ii)64m3 — 343n3
= 64m3 — 343n3
= (4m)* — (7n)*
= (4m — 7n)[(4m)? + (4m)(7n) + (7n)?]
= (4m — 7n)(16m? + 28mn + 49n?)
1. 27x3 +y3 4 23 — 9xyz-F TS fJCET 413
ST 27x3 + y3 + 23 — 9xyz
=GBx)3+y3+23-33x).y.z
=Bx+y+2)[Bx)*+y*+2z% - (3x)y —yz — (3x)z]
=@Bx+y+2)(9x%?+y? + 2% —3xy — yz — 3xz2)
[a® + b% + 3 —3abc = (a + b + c)(a? + b% + ¢? — ab — bc — ca) I TS |

qT3 12, NOHq FH13

x3+y3+z3—3xyz=%(x+y+z)[(x—y)2+(y—z)2+(z—x)2]

ST

RH.S. =2 +y+2)[(x -2+ —2)% + (z— 2)?]

=%(x+Y+Z)[x2—ny+y2+y2—2yz+zz+zz—2xz+x2]

=%(x+y+z)[2x2+2y2+222—2xy—2yz—22x]
=%(x+y+z)x2[x2+y2+zz—xy—yz—zx]
=(x+y+2)(x?+y?+z%2—xy—yz—zx)
=x(x?+y*+z2—xy—yz—2zx) + y(x* + y* + z°> —xy — yz — zx)
+z(x? 4+ y? + 2% — xy — yz — zx)
=x3+xy? + xz% — x%y — xyz — zx? + yx? + y3 + yz?
—xy? —y?z—xyz+x%z+ zy? + z3 — xyz — yz? — z%x

=x3 + (xy? — xy?) + (x2% — x22) + (—x%y + x%y) + (zx? — x%2)
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+(yz? —yz?) + (zy? — y?2) + y3 + z3 — 3xyz
=x3+y% + 2% = 3xyz = L. H.S. [oye] AfeTme $77/4]
o2 13. (i) WM x+y+2z-0, (O @S F x3 +y3 + 25 = 3xyz.
(i) IW a+b+c=0(0@ @3 J-

a’(b+c)+b%(c+a)+c?(a+b)+3abc=0

(i) MM 2a—b+c=0, (@ (WYSAT (T 4a? —b% +c? + 4abc =0

(iv) I a+b+c=0, (6@ (Y3 (-

2 2 2
(a+c) +(b+c) +(a+b) —0

bc ca ab

(v) I a?+b%+c?—ab—bc—ca=0 (o@ (W3 (T a=b =c.
ST

@)~x+y+z=0

= (x+y)% = (—2)° [ 37|

=>x3+y3+3xy(x +y) = —2z3

= x3+y3 + 23+ 3xy(—2) = 0 [(i) — F997]

=>x3+y3+23-3xyz=0

wx3 +y% + 28 = 3xyz [FEf@ |
(ii)ra+b+c=0 ~a+b=—-c,=-b,b+c=-a

T FRFT AT, a?(b +c¢) + b%(c+a) + c%(a+b) +3abc =0

= a?b + a’c + b?c + b%a+ c?a+ c¢?b + 3abc = 0
= a?b + b?a + a’c + c?a+ b%c + ¢?b + 3abc = 0
= ab(a+b)+ac(a+c)+bc(b+c)+3abc=0
= ab(—c) + ac(—b) + bc(—a) + 3abc =0

= —abc — abc — abc + 3abc = 0

= —3abc + 3abc =0 [HNT@E]




(iii) ~2a—b+c=0
=>2a+c=b
« AM8TF = 4a? - b% +c? + 4ac
= 4a? + 4ac + c® — b?
={(2a)? + 2.2a.c + c?} — b? = (2a + ¢)? — b?
= b2 — b? = 0 = (T (F(To)
(iv)~a+b+c=0

>a+b=-c=>a+c=-b=>b+c=-a

. 2 2 2
. FieTy = (b+c) +(c+a) +(a+b)

bc ca ab

G SN G N GO L SO LN

bc bc ab bc ca E

a3+b3+c® _ 3abc
abc ~ abc

= 3 = (N7 (Fenfae)

W) ~a’?+b*+c?—ab—bc—ca=0

= %(Za2 + 2b?% + 2¢? — 2ab — 2bc — 2ca) = 0

= {(a® — 2ab + b?) + (a? — 2ca + c?) + (b?> = 2bc + c*)} =0
=>{(a-b’+(@a-c)?+(b-0?=0
= (@-b)?2=0,(a—¢c)?>=0,(b—c)?>=0
Sa-b=0>a-c=0=>b—c=0
Sa=b=>a=c=>b=c :~a=b=c ()
14, Fa%d gPee [y T3IF o7 AfeCR M fady F37
O (=12)3+ (73 + (5)3 (ii) (28)3 + (—15)3 + (—13)3
STAE
() ¥91¥M,a=-12,b=7,c=5

@S, a+b+c=0 2, (ofeF, a3+ b3+ 2 =3abc TF |
3Me, a+b+c=—-12+7+5=0

W (122 + (D3 + (5)°




=3(=12)(7)(5) = —1260
(i) &3 T, a=28,b=-153FFc=—13
afeq, a+b+c =28+ (—15) + (-13)
=28-15-13=28-28=0
>a+b+c=0

~a®+ b3+ c3=3abc

= (28)3 + (—15)3 + (—13)3 = 3(28)(~15)(—13) = 16380

T2 15. ©Fe I AT AFe[RAFS Gig A 7% @ WER IMEE Sferaar |

(i) ¥ [25a% — 35a + 12 (ii) F1fe1| 35y2 + 13y — 12

ST
(i) - ATOEas I L x B = 25a% — 35a + 12

= L X B = 25a%® — 15a — 20a + 12
=5a(5a—-3)—4(5a—3) = (5a—4)(5a—3)

. T WE (L) = (5a—4) TT 0@ T3 (5a —3)
A@), = = (5a—3) T, T%F = (5a—4) TI |
(ii) -~ NTo®™as FIfd L x B

= L X B =35y?+ 13y — 12 = 35y% + 28y — 15y — 12
=7y(5y +4)—3GBy+43) =Gy +4)(7y —3)

o T W = (5y—4) ¥F (OB TF (7y—3)

A, 5 = (7y—3) T, FF = (5Sy+4) TT |

T2 16. M0 AFed WA Ta9$x J@l oo INT TIRF M@0 F F 23 2

(OHFfT | 3x2 — 12x (i) FIfer | 12ky? + 8ky — 20k

ST

(i) AT TFaFS (Famd = 3x2 — 12x [T96]




(i)

> WHT x 7T X THel = 3x(x — 4)
. TSI NAFF 5T TEIF AN T: 3, x A (x — 4)
AT TP (% = 12ky? + 8ky — 20k
> WHT X 7T x %6l = 4k(3y2 + 2y — 5)
= 4k[(3y% + 5y — 3y — 5]
= 4k[y(3y + 5) — 1(3y + 5)]
= 4k[By + 5y - 1]

= 7§ X TF x T%el = 4k(3y + 5)(y — 1)

-, SNFSIT FAFS 5T NEITF APF© 2 : 4k, (3y + 5) AF.




